1} 2 friends had soma monay to buy o presant for their friend, Carlos.

Patra Jake
I bought Carlos a present. T I bought Carlos o present. T
heve spent 60% of my monay heve £18 loft, this i 0.3 of
ond I howae £20 left the monmy I sorted with

Cirdle trug or folse for each statement ond write coloulations to show how you o
a) Petra's presant cost more thon Jake's presant.
Trus/False

b} Thetotal omount of money Petro ond Take storted with wos less thon U8 of £1500
True,False

Z) Toni hos set hersalf o torpet of ruaning at leact 6km over & doge This is how much she hos o so fore
Day 1: 25% of the torget
Day Z: § of the distance covered on Dy 1
Day 3: 0.5km

Key foct: 1km = 1000m

Has Toni got mone or less than 30% of her target to complete? Show how you knoe:




